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Match the following :

Gesteu(pauamaupenpll QuUTmESSIs

(a) 6 sides polygon 1.
6 L&s uGaETETD

(b) 7 sides polygon 2.
7 uss vwGsreanrih

(¢c) 8 sides polygon 3.
8 uss uwGarewTd

(d) 9 sides polygon 4.

9 uss uaGasrenTd

@ M @© @@

@ 2 4 1
® 4 2 3
v© 3 1 4
® 1 3 2

(E) Answer not known
ellenL Qgflweildana

= D —= Qo

Tetrahedron
QL yprldant rren—an&@
Wp&CaTaTpd CETaEmLg).

A4 3

JV© 4

(E) Answer not known
slenL Ggfluaidens

Heptagon
GaniL ser
Nonagon

B TGEI & T6HT
Hexagon
LA o)
Octagon

eTeRT (S & TeRTLD |

equal faces, each an equilateral triangle.

FLOLDTEHT (LP&EBIGEHLD, FDLOMET
B) 5
D) 6
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3. sides are in Nonagon.
CrnGarser ———— L&GShET Clanarg).

@A) 10 . B) 12

© 1u VD) 9

(E) Answer not known
ellen Gsflwueicdenaw

4.  The internal angle of an octagon is
aanGaramsdlen 2 drGament 26may

@) 1400 - \/63) 135°
(C) 160° - (D) 120°

(E) Answer not known
ehlent. Qgflweicrency

5. How many pairs of parallel lines are there in regular Hexagon?
@G snnGasransdld assmen Gommg Blenam Car@iser 2 crerear?

@) 2 v 3
(C) 6 ' D) 1

(E) Answer not known
eflenL Qgflweldane

6. The another name of Rhomboid is
sriegrsen (Rhomboid) Geugy Quuwis

(A) Rectangle (B) Rhombﬁs
Qasucusid FTUIES TD
VIO Parallelogram (D) Trapezium
' Geemsyd ' ghleuaLd ‘

- (E) Answer not known
eflen GQgMlweldane
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1s called Trapezium.

sfleugid eramiiLi(heug|

\/A) any two sides equals
gCsayid @ LEEEIEET FIODNG @)(HSHESWD

(B) opposite sides are equal
ATy LSSBGET FOWDTETS

(C) opposite angles are equal
TGy dir CamenThiseT ST

(D). sides are parallel
' LESHIGET GearuTeng

(E) Answer not known
cllenL Gsflwsiidency

The sum of interior angles in quadrilaterals
Brharasaien 2 aGCaramiiseafen sl Hbsrans

@) 180° (B) 270°
JO 360° (D) 90°

(E) Answer not known
cllenL Gasfwelideane
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9.  The sum of exterior angles of a polygon is equal to
v Camamgdlen Gevafliiym Ganawrisaflen gl (hsCsmams

Qa) 270° (B) 180°
J© 360° D) 90°

(E) Answer not known
clenL Glgfweildveana

10. - _ scalene triangle.
- — SFLUES WPECHTERTLD.
\/ﬁ) All sides of a scalene triangle is unequal
PG LESEBISEFHLD FIOWH DN
(B) All sides are equal
SMASF LSESRG@HD FOWD
(C) All angles are equal
Simansg CaramisEhh FOW0
(D) Has line of symmetry
Fw&sr Car® fenbsg

(E) Arnswer not known '
eflent_ Qgfweidwenc
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11. The sum of interior angle of any type of triangle is
ahs euamswnar (piCanansden 2 arCamamsdlen enl HSESTMS

(A)

YO

(E)

90° (B) 120°
180° (D) 360°

Answer not known
cllen Ggflwelldenen

12. The distance from the centre to any point on the circle is
eww yerallelmbg el gdler erbs ydtells@h @l Cu o dten grrsslne

(A)
©)

(E)

ereémm Gluwi.

Diameter VB Radius

el Lib 7LD

Chord (D) Sector

BT esT L& Garenr LGS

Answer not known
eflenL. Qgfwaiicvena
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13. Match the following :
Demeumeuamepeanml QUTEESS :

(a) Complementary angle 1. These are the angles lying on
either side of a line

Brty Camenrraiger Qe  m Garlger  @@umepd
BméEL ConeniiiaeT

(b) Supplementary angle 2. The angle which is more than 180°

glanamr Garenhiger 180° & Cud QméEh Cararhisen

(¢) Reflex angl.e 3. When the sum of the two adjacent
) angles 1s equal.to 180°

MssL1Qems e Camentriiser Qe - Garavrmusefler gl HSHgTens
180° 8 @ méEwCung

(d) Adjacent angle 4. When the sum of the two angles is

_ _ equal to 90° ]
2 h&shs5s Camemratger Qran® AGsshss  Carewiisefier

s Hs0srens 90°e QrEED

(a @® (@© @
A 2 1 3 4
@ 1 2 4 3
© 3 4 1 2

3 1

vD) 4 2

(E) Answer not known.
ellen QgMweiidana
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14. Lines are perpendicular to horizontal lines are called as

Seorwl L Gasrliymneg Oshgssrts eowybd Gsrh eren
SemP&sLILIID
(A) Parallel line (B) Inclined line
@avem Csm(h emiGam{)
(C) Curved line D) Vertical line
cueneths GCamh Qertu@sg Car®

(E) Answer not known
dlan Qgflwelweama

15. Continuous thin line are used to
Qarisflumen Glwededus Canpser

(A) Hidden out lines
@ Ler Geuall Cam@piaen

(C) Centre lines

anws GCarh)

(E) Answer not known
ellen Qaflweiicana

Duc&ﬁ@{&,gﬂu@@mg

(B) Cutting planes
s g 9Gerene

\ﬂ)) Dimension lines

Siaray GO H Garp

16. The sum of the two adjacent angle is equal to 180° are called
@renh sbsgerer GCarammsaten amBigd 180° arafled H&Gamanid

Supplementary angle
Blena Hliglis Camentid

B

(C) Straight angle

Crié (Basrrsmb

(E) Answer not known
alleni Ggflweiene

(B) Obtuse angle
aifl Camemrib

(D) Complementary angle

Blyiigé Gasmerrid

388-Draughtsman (Civil) '
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17. In engineering drawing visible outlines the type of line used is
Qurdludwedr  emguLgdled GCsfybugurer Qummefles  GeaueliCam_kbE

vweruimitd Gair(

S Continuous thick (B) Continuous thin
QarLr siu5s Garp Qam_i Gweéaalw Casrip

(C) Continuous line (D) Continuous freehand
Qarir Car srgnyem CQgmi Cam@)

(E) Answer not known
eflen AgMweildans

18. Angles are identified by their magnitude — —— is a reflex
angle. T '
Caramriiser, siemeuseflen erailen gL wld sarLHutiuBdearpar. g
Yeneuenenay Camentom@ib ?

A
A) / : Vé) A B

B C C

A
: _ C
(© \<\L D) J

B C A

(E) Answer not known
eflenL Qgflweddene
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19.

20.

21.

Interior Angles of Quadrilateral equal to
prharsHlen o ar Caramiisailan anl HSCSTES &3, LD
Ay 90° (B) 180°
(C) 270° S 360°
(E) Answer not known
afleni. GgMweiidvena
All four sides are equal but not at right angle name 1s |
TR LGSESEHD FOONE B(H&EID e SpsaaT QUG GULD
CemGsramons @Q(H&s1g) _ _
SO Rhombus - (B) Trapezoid
FTi EGID sfeustd
(C) Rectangle (D) Rhomboid
ClFeucugtd sen Qecueusid
(E) Answer not known
efen Qgflwaldene
Exact position of title block on drawing sheet 1s
auenyuUL grafléd epiged Warns sflwms @maEn QL
(A) Left side bottom corner (B) Right side upper corner
QLg uss S epaw g uss G ppana
‘\/C) Right side bottom corner (D) Left side upper corner
UG UGS S pene @Lg uss Cuod epane

(E) Answer not known
cllen Gghweldena

11 388-Draughtsman (Civil)
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22. The width to length ratio of drawing sheet is
UL S srafler sswsdnEn farsdb@h 2 der alldsid

_(A)‘ _1:2 o \/_63)1:«/_2
©C 2:1 | D) V2 :1

(E) Answer not known
eflenL Qgflwuefdane

23. Match the following :
Spésam_eupenp AUmmSEIs

Sheet Designation Trimmed Size (mm) .
. .&ndlg. ere] | . L Sarey &ssifluy Gedwau L gl (mm),, .
(a) A0 1.. 841 x 1189 -
(b) Al 2. 420 x 594
(c) A2 3. 297 x 420
(d) A3 -4, 594 x 841

@ ® @© @@
A 1 2 3
(B) 2 1 4
VO 1 4 2
D) 4 3 1

(E) Answer not known
sllenL Qg flweldrena

B QW W

24. Thickness of border line in drawing sheet?
cuanTULSSTafld euenmuOL@h il S 06T ereleuaTa ?

\KA) 0.60 mm | (B) 0.70 mm
(C) 0.80 mm (D) 1.00 mm

(E) Answer not known
cflen. Gsflueiicdane
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25. The untrimmed size of A2 drawing sheet 1s mm.

A2 avapuL graflan gl QeuwltiuLrg SieTey T[T RN
(A) 240 x 330 (B) 330 x 450
SO 450x625 | (D) 625 x 880

(E) Answer not known
cilenL Gsflweiidhans

26. The Bureau of Indian Standards (B.I1.S.) that specifies the sizes and

layout of drawing sheets
cuanyUL S safle SjeTeysem LoHmID gmmaﬂmumu @@ulﬂl_@mm @‘r_rs‘éju_i

srflee s Guun@ ueflusnd (B.IS.).
(A) IS:11664 — 1986 (B) IS:11664 — 1983
SO 18:10711-1983 (D) 1S : 10711 - 1986

(E) Answer not known
ellenL Qgflueiidane

27. Small Bow Compass can draw circles less than mm
radius.
SPlwu efled smbuev —  BIS <rs5dhHE G@peuns al.Lhismar
GUENTW (LPigu|LD. :
(A) 15 (B) 20
JO 25 : - (D) 30

(E) Answer not known
clenL Qaflwueiidena

13 388-Draughtsman (Civil)
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28. Circles of more than 150 mm radius are drawn with the Aid of

150 B8 <rsdig Guéd eder el Liiser 2 _geiluy_en
suen LIRS eTmer.

(A) Largé-size Corﬁpas(s with interchangeable Pencil and Pén Legs
orHpésmigw  GQuerdld  wpmib Cuenm  srasdr Qema  Quflw
S|eTeM e SmLbLueh

jB) Lengthening Bar
FBemwomenr ULepL
(C) Large size Divider
Quftu rerefleomen WMNOLITe

(D) Small Bow Compass’

Aflw efléd smbuev

(E) Answer not known
cflenL Qgflwelerenad

29. It is made of Lead Bar enclosed in Rubber and can be bent into any
shape to form a Curve

@& TUugTed apLUiur L FULUL LT eng WHMID eUETa6 2 (HeuTés
ThS GUgeUSSQID CUEETESITLD.

‘/A) Flexible curve (B) Stencil
soLiGerdaliluey susnerey el _sielen
(C) French curve (D) Template
' GETEers cuanarey ' ' Qb Gart

(E) Answer not known
cflerL Qgsfweidrene

388-Draughtsman (Civil) 14



30. The angle between the Stock/head and blade in - Square.
T~ ev@asrwfe samauEHsgd NCaTRHEEL @l Cw o drer Caremiib.

31.

32.

(A) 60°
JO o
(E) Answer not known

silev Qzflweilcane

(B) 30°
(D) 45°

The drawing board size of Bs 1ndlcate as per BIS
Gndwu gr Bierwugdenug B eueyuL Lwaslean ety

(A) 1500 x 1000 x 25
(C) 1700x500x%x 15
(E) Answer not known

cllenL Qgflwefildane

(B) 1000 x 700 x 25

JD) 500 x 350 x 15

French curves are importantly used to draw

NG T@ha cuanenayaeT (p&EWIDTS
(A) Long lines
Ber Camasar
JC) Curves
GUEHETEL&HET

Answer not known
sflen Qg,rﬂu_laﬁ]@mm

(E) -

15

cuenyw LiwtestL(hSlemg).
(B) Triangles

W& CaEmanThigeT

(D) Circles

GUL_ LB HET

388-Draughtsman (Civil)
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33. Pencil Grade 2H is used for
Z2H Quendle Spsaam_subMheE uwetuhEng.

A)
B

(©

®

(E)

Guidelines for Lettering 7
T(PSEIE&HET OHMID @esshgGamer er(pgleusHE& @by éa&n@ UMW

For Construction Lines, Dimension Lines, Section Lines and
Centre Lines

sU_(HwrarsGasr, seTejGarpiser, Ghuys Camrhiaer, emwwsCarhHgEer
For Object Lines, Lettering and Dimensioning

QurTCaTH&6T, eT(PdFHsaaT, Bodsniser

Foer free Handwrltmg, Arrow Heads Dimensioning and

Lettering: :
FSHETIONG TIPS, amqaa@;ﬁ]aaerr cmmm@asrr@asm T(PSSHIEHNET GT(LHS

Answer not known
elent_ Gsflweildena

34. The Designation of Drawing Board size is 500 x 350 x 15 mm, used
Drawing Sheet size is

500 x 350 x 15 WS =ereyeter euedruL L@ensudld, LweTUESSILELD
cuenTUL grefler erey

(A)

v©

(E)

A4 (B) A2
A3 | (D) Al

Answer not known
dlenL Qgflweldana

388-Draughtsman (Civil) 16



35.

36

The dimension of Al Trimmed size drawing sheet

Al 4 Ab@H @ierey euenyuL sreflen Lflwremd

(A) 841 mm X 1189 mm ﬁ) 594 mm x 841 mm
841 A X 1189 S5 594 A x 841 AS

(C) 1230 mm x 830 mm - (D) 880 mm x 625 mm
1230 uh8 x 880 88 880 A8 x 625 A5

(E) Answer not known
ellen Qg flwslideana

Instrument used for enlarging or reducing the map or drawing

Cul gdbag amruLies Quisrss Soeg Gopss uweaTUhHSsILE LD
& (el

(A) Drawing Instruments ﬁ) Pentagraph
UL S@hellser - LuerLrélgma

{(C) Planimeter (D) Clinograph
Qlermatl BT HeNCermdlymes

(E) Answer not known
el Qazflueiidena

17 388-Draughtsman (Civil)
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37. Match the following :

Qemreumeuaraubenms Qummogs

For measuring or setting off angles
CoramThigGaneT aTeill SDOF BHM0&ES
To draw horizontal line

feoL ol L GamlenL euenriL

For drawing curves by joining various

vaGaty yeraflaener Benamdg cuemaTe sear
auenTelsmn &

For drawing circles and arcs

UL L BIGET LOIHMID UL L GUeNETa S6T

UDTUFHE

(a). T-square 1.
g -6 HTUIT
(b) Compass 2.
SMDLIGY
(c) Protractors 3.
' point
LGyrl_préL e
(d) French curves 4.
NCT@Rs cuanaTay
@ G ( @
A 4 3 2 1
B) 1 4 3 2
JO 2 4 1 3
(D) 3 2 4 1

(E) Answer not known
sfler QAgfNweidena

388-Draughtsman (Civil) 18



38. Select the correct angle of below set square
EQy 2 drar Gel -avEsmwir-an gfluner Garammsamer CaiholsH

/

(A)  45° 90°, 30° (B) 90°, 60°, 45°
SO 30°,60°, 90° . (D) 90°, 45°, 30°

" (E) Answer not known
efen Gsflweiwana

39. The. protractor used for

LUTESISIITENg ——— &@& LweTuhSsuubh&ng.

(A) Vertical line (B) Horizontal line
Qergsgs Carh feoL oL Ceri

(C) Inclined line ﬁ)) Angle measurement
smiey Gasn(p CamemmhisdT SeTluShHE,

(E) Answer not known
cllenL Gaflweildana

19 388-Draughtsman (Civil)
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- 40. How the uni-directional system dimensions are placed in
engineering drawing to read?

yafleoLrseaeand i@ weapuild eameysafler uflwrarmised ey
srefled eTling Lig&@buy. 2 drarg ?

S

41.

@
®)

©)

(E)

From top of the drawing
cuenguL gdlenr Copu@Suie LgdsED Ly

From left side to right

auenLILSHle @)L g U&ssSHSI(BHE cug LUph eue

From right side to left

suanTLL Sgmetlen euaudlhbg @ILUSED euen

From the bottom of drawing

cuanUL-Samaflen o LIEESHhbgG Lig&@LbLlg ammasasuu(\éﬂmgj

Answer not known
allenL. Qzfweiicency

The art of representation of object having two dimensions
G uflreriiseames Qaram, Qummeiian WrHPlfsseu seme

(A)
(C)

(E)

Solid geometrical drawing ﬁ) Plane geometrical drawing

S euigellwe suenyLILLb FLOGET 6Ulg6llwd eueniILLb
Orthographic drawing (D) Drawing |
<TGl euanrui_ib GUENTLILLD

Answer not known
aflen Qaflweiidhana

388-Draughtsman (Civil) 20



42. Two point problem and three point problem is solved using

43.

method.

@ren® yerafl qpepp wHDID epdrn Ldel e wenuila

- Sisstinhdlarmg.

(A) Intersection

G TQesanem (penp

(C) Radiation

CrgGweger apenm

(E) Answer not known
eden Qgiflweildana

,/63) Resection

Ffoesaue (e

(D) Traverse
Qzrii apepm

‘Which of the following is correctly paired?

SlpsaTLcupmieat ereney slwins Qurmassriul Hiarerg ?

(1) Radiation
Crig Cuiagpe

(2) Intersection
@ e irQ & a6t

(3) Traversing
tg Tl 6u rand
(4) Traversing
g7 Gu frend] i

ﬂ) (1) and (3) are correct
(1) vpp (3) sNureraney

(C) (2) and (3) are correct
 (2) wpmyb (3) sNwreTeney

(E) Answer not known
sllenL G fweiichency

No need to orient the table

voamsow efluan. deuiw Ceameauuidamea
Does not require chain or tape for base
line

Guev GamierL Sjerss GQelldr deog GLL
Cganauuiicvanen

Require chaining
Qeliafin CoaeuriLGE DS

No need to orient the table
uaesanw gflwe Geuw Csameuiidoana

(B) (1) and (2) are correct
(1) whmb (2) sfwrereneu

(D) 3) and (4) are correct
(3) whmid (4) sNwrerane

21 388-Draughtsman (Civil)
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44. Match List I with List I correctly and select your answer
ucgwed e uigwe IT o6 Qumpsd eflwner st aws CaipGs@

List I o - ListII
Ul uied I Ut wed 1T

(a) Orientation 1. Spirit level
eflwenGL agenr evl9flL Gleaveudd

(b) Centering 2. Trough compass
Clgefimn g L1 STbUE

(¢} Levelling 3. Tofix exactly over station
Ceveuedim GU@I_&@]SS@ Guwéd sflunrs @urr(@g,g,jeugj

~(d). Bearing. .. . 4. ,-!Posmomng correctly . T TR PO
Guiln sflurer Qurdlagpen Glasrram@ m@m@
@ b © @
JO ¢+ 3.1 2

B) 2 1 3 4

G 1 2 3 4

D) 3 4 2 1

(E) Answer not known
cflenL Qgflweatdeme

45, ———————— method of plane tabling is suitable for locating
inaccessible point. _
SEE  (WPipwirg  Yearaflenws a;mrl_ﬂ)leug,m@ uGarer  GLGafir (y)mmuﬁ]eu
——————— aratug QuUTHSSLrEIS). _

(A) Radiation vé) Intersection
CrgCwagen ' @lestLro & ager
(C) Traversing (D) Resection

(4 TG T v M g&Eagelr

(E) Answer not known
eflenL Qasflweiidane

388-Draughtsman (Civil) 22



46. Match the following

Spaem_supenn QUGS :

(a) Trough compass
g Jool SMDLIG

(b) Plane table
9Gerenr GLiblar
(¢) Alidade
: G
(d) Fork
SLIGUITTS
@ B ©
(A) 4 1 3
vB 2 4 1
(C) 3 4 2
D) 1 3 4

(E) Answer not k.now_n
cllenL. GaMweildeane

(NI R I

1.

2.

(d)

Graduated
Fievedlwioms

North line

UL Sleng

Transferring the station point
evGLagen Lataflenw wrhmdlmng
Well seasoned wood

Bei@ USLILGHSSOILL L OTLD

23 388-Draughtsman (Civil)
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47. Choose the right answer
sflwrer slenLenws GCarbosMH

I. Plane table surveying field work is recorded afterwards doing
plotting work
gogeruens sMGeuldm  Geauee pubsling Wamigh Qeig
O @méTerenmb
II. Plane table surveying field work and plotting work not
important
sogaruams Coumase Warrl gk GCoumea Cgemeuulideane
III. Plane table surveying field work is recorded in a field book
plotted at the same time
gwgearumands FTGeauuiin Qenyb QurwCs |51611rrL_1q_r5J Caumaawyb
- Gy Coyadd QaliutiL@dpg)
IV. Plane table survey plotting work in office room
Fgearuwends §TGa qHSFHINH QDS JMDHE eubs Hemmig b
e GeuamHib -
@A) IV (B) I
VO 1 D) 1I
(E) Answer not known
sflanL Agilwueicdend
48. The another name of trial and error method ——— in plane

~ table survey. |
sugaruwms FTGaudd yegud whmb eyt weanuler wHEDTm Quiwii

(A)

o

)

Two point method (B) Square method
Qe yerafl wpenm g7 Letafl (peom
Triangle of error method (D) Rectangle method
Ww&Garem Yenp (pen QFeueus LeTall apanm

Answer not known
eflenL Qgilwueicana

388-Draughtsman (Civil) : 24



49. Name of method in which tracing paper is used over the drawing

50.

sheet to solve the problems.

cuenuL gnaflen Gue yGrimGuiiLT euss Siey srert 2 o wpenm

" (A) Traversing method

Qgrreflwume (peom

(C) Three point method
gpemy Leredl apenp

| (E) Answer not known

eflen QgMweildene

(B) Tral and error method
lg@TWE WHMIWD 6TJT (Lpanm

\KD) Bessel’s method

Queeed pev

Accurate centring in plane table survey is necessary for 7
2l W Fngal Loas sTGeuulring e giovdluvrer Geearfm

Cgenau.

(A) Small scale maps
W& Bl LgLiLenay

(C) Filling in details

B L MEUSENET STERTETLD

(E) Answer not known
eftenL_ Ggflwelidvena

25

\Kﬁ) Large scale maps

Quflw ugtiuerey

(D) Solve triangle error
w&Canerr Yeanpseer &meRTTLD

388-Draughtsman (Civil)
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51.

52.

Which of the following statements are true about plane table
Survey?
Epasam_  aunsdluisaidy  ebs Gurraaeﬁlu_lrmasm l_cﬂmmw('o’l_lﬁ]m &Geus
D_GHTEN LOWITEITENEL ? BT
(1) Onmentation is done by Back 51ght1ng
Cué evel iy apanpuliled @ilueaGLage GelwiuBng
(11) Onmentation 1s done by trough compass
g Joell &TbuUe epad pilwarGLaset Geuutiuhidng
(111) Centering is done by spirit level
el il CQeveucd Camam® Geerfim Qeuutiu@ipg
(A) (i) only (B) (1) and (iii) only
_ (111) wi @b (1) wpmib (111) wL.Hw
(C) (i) and (iii) only ﬁ) @) and (ii)only - 7
(11) whHmb (111) LLFL (1) wHmb (1) wL.Eb
(E) Answer not known
cflenL, Qgflwelidane
Survey is employed when great accuracy 1s not able such as
Topographical Surveys.
gGau (BeruGurréi]Urrutﬁlasm #iGeu Gumed umﬂuﬁ]m P QJGU@S]U.ILDH’&S
SeTeSHET eT(H&SE Guwieng).
(A) Compass (B) Chain
&TLbLIG (gl et
-,[C) Plane Table : : (D) Dumpy level
GCaresr Gri19afim Ll Qeveusdim

(E) Answer not known
cflenL Ggflwaidena
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53.

54.

09.

How many stations are required in intersection method?
@enLiibesagen panpd@ assaman auGLsasar Coemne ?

@ 1 - v 2

(C) 3 (D) 4

(E) Answer not known
clenL Qgflwueiidena

is the most suitable method of plane table surveying in
Hilly Country.
el ugdasailen, ger seTEma Lwas (W Semamauliler & 2 &hs e

(A) ‘Radiation Method \xﬁ) Intersection Method
CriqCuiger (e @em_rbladgaen wpenm

(C) Traversing Method (D) Resection Method
Lgreuierdl iipenm Nolgsgen (penp

(E) Answer not known
: ellenL Qsflweildane

Working edge of an Alidade is known as

SANCL i eir Qeumadln erig) eTe BenPpEsLLBd gy .

(A) Ebonite edge \[6) Fiducial edge
eGurenar 6Tt gh R FHwied eri g

(C) Straight edge : - (D) Graduated edge
eGlTuI erish SymageGeut 1 el gy

(E) Answer not known
sflen Qg flweldene
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56. Normally trough compass is used for
QurgleursGey 1§ Msl1&TbUe (Sang &TLly) ~—————4&@ LweTuhSng)

(A) Levelling the instrument (B} Marking centre line
UL b #flumités enwnaTet wriédn Gew

(C) Sighting Device ) Marking North Directions
Qumgpener LMTEHEGL SHeNwTs UL &@E fansani g flss

(E) Answer not known .
eflenL Qgflweiidena

57. ————— is a straight edge with some form of sighting dev1ce
" using plane table survey. ‘
Cryner eflefiby QamamlL  UTFE@E 85@6)9] uu.umu@m lfﬂ(ﬁenasr

CLlefliiy #irCeu.
(A) Tripod (B) Tape
Cenpgun(® . Gy
ﬁ) Alidade (D) Prism
< NCL® 9fled

(E) Answer not known
eflenL Gz flweiidana

58. —————1is quick and accurate method in plane table surveying.
G Cararr GLibler FiGeuuilehr Caugiona whHmd gdellwuwns searhHly @ Wwenm
(A) Mechanical method | \/ﬁ?)) 'Trial and error method
Qusarafisad e igeTWId WHPID W wenm
(C) Bessels method (D) Two point problem
WQgdsv wpann ' Gyan® yerafl apenp

(E) Answer not known
eflenL Ggflweildeane
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59.

v
(®)

(E)

1s not used in plane table survey.
L LUuwens Cueas fla ersasuie 2 LCurdiuudlda.

Prismatic compass (B) Plane table

Gflevwrigs Havssm i wt.Llueoeas Cuoas

Trough compass (D) Plumb bob

Qzrig fenssamiig FembriLImls (<) s&&S G

Answer not known
eflen Qgilwelleranay

60. Plane table survey is
"FOSET Livens FiGareng)

A)
B)
Vv
D)

(E)

Slow
Qgleuns QFUWS ok Wig)

Accurate .
Fodwnrs QFUns sniguigy
Small scale mapping

Sflw euena Gl gumflEas salgwg

Less accessories
GODHE 2 USTemESET LweTuhigsiupib

Answer not known
efenL Gsflweildana
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61. ——— horizontal axis rest on a frame which 1s supported on a

heavy metal ruler.
flant ol L &8l semeyser  @hlssuulL  evGase GG
Qur@mssuulL sarona 2 Gars mo®T STUGSEDS. R

(A) Sprit level (B) Trough Compass
J& DL LD iq- U STDLGD
\/«)) Telescopic alidade (D) ‘U’ fork
QLevevCamils eSlGLL U’ Guanis

(E) Answer not known
cflenL Qgflweildane
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62.

Assertion [A] : The surface of the plane table board should be a
perfect plane.

sapmy [Al : Plane table uvw@msen Gupuriiurerg swgerons
@m&s GeuarT(HLD. ' T

Reason [R] : The board is made of well-seasoned wood, the

board generally will not twist or wrap.

sryenrd [R] DB usLURSSLILLL WSSO Lwes QelwuliuGdps.

(A)

v

(©)

(D)

(E)

Qs uveems Ourgieurs PossGeur dag QemE
STeTrEGeUT &mg).

[A] 1s true but [R] is false

[A] ol apammed [R] seup

Both [A] and [R] are true; and [R] is the correct explanation
of [A]

[A] wpmis [R] ef; [A] & [R] eang sflwner eflerésid ep@h
[A] is false but [R] is true
[A] seum sypemmed [R] &

Both [A] and [R] are true, but [R] is not the correct explanation
of [A]

[A] womb [R] efl, spemmed [A] &@ [R] <peng sflwrer eflerésn e
Answer not known
sllenL Qgflwueiicbana
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63. ——————— Road is considered intermediate between earth roads

and metalle roads

G(HRIGD FTEaQ WHND WERT FTM@SE Bleneu @enL LILIL L. FTane

(A Cement Concrete road
bl aradfl srane

(C) Bituminous road
i hleey Frenew

(E) Answer not known
eflen Wgfweildane

" 64. The arterial roads are classified of -
@J@DGSUJITGGT &W@@&Gﬂw QJ@)B:?@U_I B:FI'I'I"I'_F)‘QSQ_I

ﬁ) Urban Road

éﬂ,m;pﬂu_lm FTHEET

(A) Rural Road

Syroliyp Free

(C) National highway
Caflwu QpHersTane

(E) Answer not known
cflenL Qzflweiidene

388-Draughtsman (Civil) 32

\,é) Gravel roads

Hiymeudd Freney

(D) Asphalt Concrete road

spevumel sriadifl smane

—type of roads = .

B&TLILD FTene

(D) ‘State highway
wrfle Qp{HEFTane



65.

66.

Sequence of surveys carried out, before finalising the alignment of

road

FrenaUilen SaealeTL -8 (Pl 6y G&u_l@.lg,ﬂ)@ ety euflenslinig Gl
Geuamig i #1Gedser

1.

2.

(A)
(©)
(E)

Reconnaissance survey, Location survey, Prehmmary Survey
QeuarGarmL apwmiie] sereneu, QanGsager ¢iGe, wpaai( SeTemeu

Reconnaissance survey, Preliminary survey, Location survey
QeuetGenmiL sHmmiey iaTeney, (waatlh oeraney, dorCsaper #TGeu

Preliminary survey, Reconnaissance survey, Location survey
peat sierenel, QeueatCarmiL &Hmmiie| yereed, dorCsaper sTGeu

Location survey, Preliminary survey, Reconnaissance survey
QeonGaapen #iGel, (peraih eTene, GeueTGarm L &Hprie] <eTee

3 My
1 (D) 4

Answer not known
aflen_ GsMwellcbene

Camber is provided for earth road is

LOGRT FTENEVSHEEHE Gabui euprisliuBEng.

(A) 1in20to1in 25 (B) 1in 15to 11in 20
20@ 1 gpsed 25 @av 1 156 1 gpsed 20 @e 1

(C) 1in5to1lin 10 V) 1in25t0 1in 33
5& 1 gpsa 10 o 1 ‘ 250 1 gpsed 33 @av 1

(E) Answer not known

elen Qgflwelicvena
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67. The minimum width of carriage way for two lane in National

Highway 1s
Gl GCphHererenauier @rien umeng eunsem euflGsmar GonhsULS
S GEOLD _ : : o _ S
(A) 4.00m (B) 6.00 m
4.00 8 6.00 &
VO 800m | (D) 10.00 m
8.00 & 10.00 &

(E) Answer not known
eflenL Qzflweildena

68. The highway from Srinagar to Kanyakumari is
whBsflEhg seraflumgwias 2 der GEHEreTana

(A) North East Corridor (B) South West Corridor
© ULEGE SHpsEG GeemTLliL - QapE Cuhe el

\/C) North South Corridor (D) West East Corridor
L &@ Qg @eeariyy Cuh@, i@ @eaniiy

(E) Answer not known
cflenL Qasflueiidene
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69. —  method of construction used instead of bituminous road
G- Hdlerev smeaned sL(HrarsgisE udeons LweTuRidbs UL b Xeeumipenn
(A) Cement concrete road
HOwenr. srrd il srene

(B) Bituminous road
dC Gidlerten Frene

(C) W.B.M. Road
euTL_L T ueyer Qwsasd Gy
ﬁ)) Rubberized asphalt concrete road
FULETEL[H evurdl sk sroe

(E) Answer not known
e GgMweildene

70. Advantage of earth road.is
LDGT FTEneUdler HesTenid
\/A) Cheap in construction cost

s Dorer QFwey @Gmmey

(B) Wear out quickly
eflenyeurar Gguiwmed

(C) Useful for light traffic only

- @@parer GuTsEISE LwaTUBSSH

(D) Maintenance costs are high
uyrwfiy GQeayser iflsb

(E) Answer not known
lenL Qsflwelidane
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71. ——————— are vertical curves having their convexity downward
Qem@sg euamereyser 2 amiwg SPCrrsd Qeueflliymons auenarnbs)

BosSD. { |
" (A) Vertical Curve ﬁ) Valley Curve
Clem@sg cuamenay UETeTSSTEE aJeneTay
(C) Summit Curve (D) Transition Curve
2 58 cuenaTey g Qreniadlanern cuenerey

(E) Answer not known
dilenL. Gasflweildena

72. The process of laying out of the central’line of the highway on the
" ground is e . ST TR LS
Fnena JewlIugHE serulld ewwlt yerefluid Qaiuiu@n Qaudupeap

(A) Road way (B) Reconnaissance Survey
FTMO UMNG - QeuarCGerml L& sHm #rGeu

(C) Preliminary survey \/b) Road Alignment
apeai (B Flev oeTaney grena HrOUDSFHSD

(E) Answer not known
eflen Gz flwefdane

73. To enable free movement of traffic around an urban area
BaTLUGSsetla ganLuloamwd CursGeaursg GFde Wwigwb sTae

"(A) Loop road " (B) By-pass road
dlenart) uTEnS FTEAW® GMI&EEG LUTeng FTeney
JO Ringroad (D) Earth road
L L TG FTEne) | DGR LITenG FMened

(E) Answer not known
cflen Qgflweldene
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74. The portion of an urban road which is used by high speed and power

driven vehicles is

paruyp steaudlar @ ugH HGas LHL sEHwuTd QuEsULELD

GUITEETEIGETTE) LweTUhSSUU (Heugl

(A) Carriage way

euUTseT Guldl

(C) Cause way

smyent eyl

(E) Answer not known
allenL Ggflweilcbenen

75
Qphereremlenr  @Gm&E Oeaulger Wbs
S P&E&EUILHEDS ?
(A) Camber
Gabur

(C) Carriage way
CaGrgy Gau

(E) Answer not known
eflenL Ggmueicrency

\/(ﬁ) Motor way

CumrLr euLf

(D) Head way
- Qe el

. " The highest point of a cross section of highway is

o Wiks yetefl  ereueumm
(B) Sub-base

*&g1-Gueiv

ﬁ) Crown

Srayen

76. Planting trees in road side can be called
graneullen @muppb Cegs@er euaTTULSDHE

Ve

(C) Sericulture

(E) Answer not known
efler @zflweiidvena

Arboriculture

37

(B) Boriculture
(D) Derbyculture
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77. How many surveys are to be conducted for fact finding before

formation on road?
STD® JAGLUUSHE ey @ saTLlub e sE5Ess Grg,gmm
SUeayser BLssuut’ Geuam@®ib ‘

(A) 5 (B) 6

JO 4 D) 3

(E) Answer not known
eflenL Qs flwaildana

78. A road usually for a single lane, its width 1s kept as

SO sraaudd, durgeurs g el ————— sisab @@aaa; @Gumr@m
(4) 3.00m (B) 3.25m

3.00 & 3.2518
© 350m ,/5) 3.80 m

3.50 16 3.80 8

(E) Answer not known
ellenL. Qgflweildana

79. Compounds used to seal the joints in road are known as
S L HEurmLsmars Aanarh GeaamiiLsaer SoLUUSDHE,

(A) Set back (B) Seal Coat
. - Qe Cus . : . FoCam_ .
v@) Sealer (D) Sheet asphalt
SEnLLILITGHT el peuLmedl

(E) Answer not known
eflenL Qgflweildana
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80. Free movement of Traffic around an urban area a circumferential
road 1s
567 ugdseaild GQube saLwlldannd Gurs@arss Ben GuD
unens ensstILHE DS

‘/A) Ring road (B) Loop road
Ul LUILTens ' dleveTiLiTenS
(C) Flyover (D) By pass road
. G LD GDI&EEG UTns
(E) Answer not known
sllenL Ggflueildene

81. The slow moving traffic road is known as
Qgieins QedeushE@ CUTRHD FTane

‘/A) Crete way (B) Carriage way
Ff_Ceu uISHL LD
(C) Foot paths (D) Frontage roads
L Lmeng (PesTLm Franen

(E) Answer not known
cflen- Qgflwaldena

82. The top most layer of road structure 1is called
snenvler GupHuriy oiRsdler sewiiy

\/(A) Wearing course " (B) Zebra crossing
swfli Gamiev sBLim Elymensirl
(C) Expressway (D) Sub-base
- 2C8eus culfl : - &1 (DS

(E) Answer not known
eftenL Qzflweildane
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83. As per Nagpur plan the roads are classified, in India, based on
location and function into years
Bréwit  Sligder  ug  @pdumeddy  snevasar  @@LidLb  wHmbd

v

- QeweLrmig e C SllgUuenLudle
UL SUILIL(HeTarar.
20 B) 25
30 (D) 35

©
(E)

Answer not known
cfler- Qgflwelereney

84. The total length of border roads is over
" erdvane snaeulen Berh ————— g G

v

(B
(©)
(D)

(E)

7961 km
7961 fCeomBLiv

6961 km
6961 ACamSL i

5961 km
5961 HCeomd L

6061 km
6061 HCombLi

Answer not known
slenL Qg flweiicvenay

388-Draughtsman (Civil) 40

e (HseaTTS



85. The surface of a good road should be to rainwater

@@ pde sremauiar Cupu@d, wawhor —— @lpss CeudmBiw
\/A) Impervious (B) Pervious
- oar(hi(hey @WRTSSTS 2e1(R(FEYS TS
(C) Absorb (D) Storage
2 Hlgpaeusns Caéalprs

(E) Answer not known
ellenL Qgflweildencn

86. The main advantages of GPS digital 31gnals
sl.19. areiv. SS@QS]UEI]GU o @Ter- q_g‘ll_l_su Séamedleb (y)asa%]u_l pmmmamﬂsu @m@

(A) Very more parameters
10s iflawrer urgmbi L fap&@w

(B) Digital input signal
- g@lLe 2 atet (b Seme é]@m_aS@m

ﬁ}) Flexibility in response to design changes
QUIrEUEOLIL LOTHDRISEhEE udlars cumeahg Garhssed
(D) Digital transmission
GBIl g rremevLdlagest

(E) Answer not known
eflenL Qgflweiidana
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87. Advantage of digital signals is
lg-gQlL e HEamellen HmeranLd
\/A) - Easy to control

sLHUubsgeug eralg

(B) Produce noise
FUSD grupid

(C) High cost
Qree] Hiflsb

(D) Difficult to control
SLHUuubhSgeug sigemibd

(E) Answernot known
aflenL. Ggflweldena

88. The ability of the earth’s atmosphere to permit passage of certain

wavelengths of electromagnetic waves is called
e cuetlweam_gdler Sper Wenaths sa@meudaaten @GHUCL LTms

Beriigenar sLbg e eywds@n Spar ——— arariupdpg

(A) Transparency ﬁ) Transmissivity

| g FreTevLIFeiTs) g-gresteubl&leL ig

(C) Remote sensing (D) Monitor station
MG Qeeardim refl_L i coCLage

(E) Answer not known
eflen GzsMwueiidane
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89. Remote sensing can be defined as collecting information from a
distance by

CgreraBlare 2 e erarUg Csmaneaied @@{5@1 BEaUDEDaT @&&lﬂuug
GTEN GUENTIIDILILIG) _

| (A) Photography
Cum_CGLrdlymsl

(B) Geographic information system
' DCwrdlymis @erurGuoeager fevLLb
(C) Tachometry

CLGesrQwr_f

\/D) " Photos and wavelengths

Cum CGLr wpmib Ceusublevasar

(E) Answer not known
aflen Qaflwecildane
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90. Choose the correct answer.
sfluren uflava GCsbblshs.

.. Following are the advantages of GPS survey
). 9. ere sammasLaE{H e Berense eTeu(HLOMY
(1) Three dimensional
wuufloresmid
(i) Site intervisibility is needed
_ et @enL_GQeuafl Caaneu
(111) Day or Night operation
o usd sdeg @rey Gewaur®.
A) ) only |
(1) wr_ @b
B ) andiii) only
(1) whmw (111) w @
(C) (1) and (11) only
(1) whgw (1) wL W
(D) (1) and (i11) only
(11) wHmib (111) Wi Hib
(E) Answer not known
after Qgfweilvene
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91.

The principle of GPS is the measurement of distance between

and
. 9.erev Qanmetens eremug ~———— WHMID ——— @@L Cu 2 grer
HTHNS &maﬁ]@mgn@m. :
(A) Segment and survey (B) Hours and second
QesGweam whmb siGeu Cryd wHpb efemmy
(C) Memory and storage ‘,ﬁ)) Receiver and satellites
ETUELIEGSS wHnD CaisEEH A&eur whmibd Cel Lear

(E) Answer not known
diten QMweildana
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92. Match the following :

Wemeumeuameupanpls QUTHSS S

Match correctly the personal GPS tracking devices
saflluc L gliferey samareanflliy srgaiisener FilumgEl QUTHSsea b

(a)

()

(c)

(d)

A)
(B)
JO
(D)
(E)

Trax
4 TT& 60

Delorme in reach SE

QLGaumiib @dﬂ & ere)

Spot gen 3
soum’.Glggeir 3
Pocket finder

UmsQaL. SenUeRTL T

@ ® © @@

3 4 2 1
1 3 4 2
4 3 1 2
2 1 3 4

Answer not known
afen. QsMNwaildame

388-Draughtsman (Civil)

1.

Using personal GPA tracking
device _

Sl L sQller sastaranti oy
FTGATSES LWL (HSSIS5

Options for people, pets and

vehicles

46

wéser, . Qsomudyreniiser  wHmib
CUMTS IS (GRS e Gll(mLILRIGET

A tiny screen and basic direction
buttons

@ SPw Heoy wHmID SjrinmL Heang
Qurggrenger

Being highly consumer-oriented in
the approach

SigmEpeoples  oifs  msiGeunt
ETTHSEHTE @ HLILIG)



93. The three segments of GPS system are the space segment, user

94.

95.

segment and the segment
GPS fQsvsdlar pparm QesCwaraaiia, duGuey Qesbioear, wer Qagswe
whHmb ———— GFsCwen. @i
(A) Computer ﬁ%) Control
SOUYLC LT ser_Gmed
(C) Interface (D) Human
@arLrGuen ' qubluLoest
(E) Answer not known

e Qzflweidena

In GPS location of unknown point by formation of triangle is termed

as

GPS & Gzfwuns QLsms wpéGaranr apepuied sar®iiy&Ed apep

(A)

©

(E)

Trilateration . (B) Radiation

" ergGeor Grage Crig Cuagen
Translocation ) Triangulation

g yresenwrsEGCaagen 14 Gn WMl (&G e ag 6T

Answer not known
cdlen Qgflweldena

The distance between the UTM grid lines on topographic maps is
Aoawriu_sde UTM s sCanpaensse (Grid Line) @eorwlo o ear

ST

VB

(©)

(E)

1000 m (B) 2000 m
1000 § ‘ 2000 &8
3000 m (D) 4000 m

3000 8 4000 &

Answer not known
eflen Ggfweilenc
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96. The common choice of co-ordinate for specifying position is
R GMUALL Hleneée Spsam eupnier g Cam-gyigGan sarer Aurgeurer

Cairey?

(A) Latitude, Departure and elevation
Ceotigiqull’, qumiat whmb eredlGouagesr

«(B) Latitude, longitude and elevation

Caolligquyl, ewmiidliqult wHmIb eredGeuase

(C) Northing, Southing and Easting
BrisSlmh, sFa|sHm whHmib FevL gk

(D) Southing, Azimuths and Elevation
Fa sdn, safleps wHmID el Gouagen o

(E) Answer not known

clen Qg fureldrana

97. The path of an object in space follows as it circles on the earth is

aarug auran@euaflder gm Qur@mellar LTes@w Gerubmes

Hedhbler Guod eu b CurapgmEid

v
©

(E)

Orbit (B) Satellite
<2l Geliganent
Receiver (D) Segment
M&eur AF:SAATY = [

Answer not known

‘aflenL Ggfwellevana
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98. GPS can be used for all of the following except
&G Qar@ésuul Reretaupdler GPS erah@ Lwarung ?

(A) Tracking

&S memtIL Ly

(B) Surveying
fley yerancu

(C) Direction
levswhl

jﬁ) For transmitting information-
SEHEUD Gl

"(E) Answer not known
sllenL Qgflweildana

99. Geodetic system is otherwise called

DG gd HevL b, LIHPTE —— erar SepPE&LLHSDS
A) Geodetic datum (B) Satellite
fCwm@Lgs G FML_lg GNEDL
(C) GPS (D) Navigation
gldlerey LCamer aulfl Qeasaisa

(E) Answer not known
cflenL Gzflweileene

100. How many operational satellite are available in space segment?
eilamGlelaily Gflefguarer Gewdurt (hsE assear Csupmsas GCandrser

o GITETE ?
v 24 (B 28
(€ 32 (D) 36

(E) Answer not known
ailenL Ggfweilcene
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101, How many minimum satellites are operational in the constellation

of GPS?

bl 9leT6M QameELndle TSHGEnET GODHELLEF QeupenassCamearaar

CeweuRdlermear? : gL
ﬂ) 24 (B) 26

€ 28 (D) 30

(E) Answer not known
cllenL Asfweicrena

102. GPS satellite are simply SVs — stands for
' 1 9eren QeuiperssGarear aaflembwurs SVs - gar gdluug .

(A) Space View ® Space Vehicles
dCGuev ety avGuey Qeudlssar

(C) Speed Vehicle (D) Space Segment
dolSE Qeudlssar ' avGuev Qes@wem

(E) Answer not known
cllen Ggflwaidena

- 103. GPS stands for
GPS & effeunésn

(A) Global Prime System (B) Global Peace Summit
(C)  Global Postal System \Af)) Global Positioning System

(E) Answer not known
ellenL Qzflueidena
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104. Which among the following is used to locate an object?
Qebreu (peuameumiied eTgl ep(h @ummeners searTLHluill LWL HE g ?

jA) GPS - (B) GIS
(C) RS (D) IRS

(E) Answer not known
aflenL Qghweilcveney

105. The advantage of GPS survey is
GPS flo sereaunfen s wpéduwre Baennwmarg)
SO - High Precision -
L 2w gévedlu
(B) Weather Dependent
cunalleney snirbsg)

(C) Night Operation Only _
' @reflé wI Hb vweu{BSs apigub
(D) Site Intervisibility Required
setsgle @enl Hlened GCoenou
(E) Answer not known
- afllen Qsfwefwena

106. Using a single prism, short range EDM instruments can measure
upto , . , , , . ‘
endu emby EDM smelsear @nop ulisgas (single prism) aeigg
GTEUGUETE| GITD QUM BHET&ES (LPIg LD

(A) 1000 m VB 1250 m
' 1000 8 ' ' 1250 18
(C) 1300 m (D) 1350 m

1300 18 | 1350 18

(E) Answer not known
- efleor Qsflueildene
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107. How much points can be store with an Internal memory of a total

station?
CumiLe evCegafller odaflamacussgiLear ereuaiarey yetelaamear GCalss
- pigyw? : S : o
(A) 90 - 1,000 points B 900 - 10,000 points
90 - 1,000 yerafger 900 — 10,000 yerefser
(C) 9-100 points (D) 9,000 —1,00,000 points
9 — 100 yereflser 9,000 — 1,00,000 yerefiser

(E) Answer not known
elenL Qgfweidana

'108. In total station ——— are hand held computers adopted to

survey data collection.
G é dvGLamafldy ——— ensufenméd Qewdu@d Hlo arerey G Lm
Ceafiggama gpEw a;ecsﬂqﬂgeh. ‘
‘/A) Field Computers (B) Desk Top Computers
eelIS0 () sanflaflgar QLevg L' senflaflgar
(C) Lap Top Computers (D) LCD Computers
iy Senflaflser ered.&.1q seanflealsar
(E) Answer not known '
e Ggflueildana
109. EDM set the —————— precisely on the prism center.
rigerbuder Al ey ———— miluwng Aflavsdlen emwusHd Sewssw.
\/(A) Electronic signal (B) Electronic light -
eTesLgrefls fleeare ‘eTu&L_Talls eneol -
(C) Electronic calculator (D) Electronic watch
ereslrreils sre @Gl it TSLITald eumr’_&

(E) Answer not known
eflen Ggflweildbana

388-Draughtsman (Civil) 52



110. Typical total station can measure distance to about
clGgay CLI L svGCL a6 fpaLd

e

©)

- (B)

3 mm (B) 5mm
3 I8 58
8 mm (D) 10 mm
8 18 10 AB

Answer not known
clen Gghwelcrena

SNTRIGET S ET&SILHID.

111. The sum of interior angles of a closed polygon traverse that has
6 sides . o
Spm usshsmad  Qamar  ppgu  ueGsmew  unegullar o Lumé
Canranrmisaflen s Hsbsrens

112.

A)

(O

(E)

60° (B) 120°

360° - D) 720°

Answer not known
elenL Qgflweildana

The EDM Ranging Limit upto
EDM & Crigps el ereueuemey g @ (mé@EGw

(A)

(©)

(®

100 Km v(ﬁ) 50 Km

100 4.8 | ' 50 &..8
200 Km (D) 25 Km

200 8.8 25 8.8

Answer not known
cflenL Qgflwelldveney
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113. For using the survey equipments, surveyors are need
to be more maintenance conscious than they were in the past.
———— Ho emereu srgammasmer 2 LCUITEULG Hle BieTeneuwimeniger

SLps srasdd @Qmbsas Nl sfaswmer ugmofiy o awreyLem @) (hEs

Ceuamib.
JGX) Modern electronic (B) Dumpy level
D6 eTeudLU_reilé L9 Qeveued
(C): Compass : (D) Plane table
SELDLIGY 9Gererr GLi9eT

(E) Answer not known
sllenL Qgflweildana

114. 1s distance measurement in total station.

G @ cvGL et e FHITHDS DSTUILIG.
\AX)_ Electronic laser (B) Chain
cravsl_nralls Casr @ gullest
(C) Tape (D) Light
Gy enevL_

(E) Answer not known
elen Qgflweildane:
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115. Choose the right matches of Total Station from the following.
Qemeugpeuareupilé GLmiid  evCogefllar  sflurer  Qummsghisaer

CaihGtshHs.
'1.- - Characteristics — Transfer of data to the computer
(&G 61 &5 61T sataND@ FT6y SHEUDSMET LDTHHISHED
2.  Capabilities — Horizontal and vertical collimation
correction
FmenLnger fevLwlL  wHmbd  CetiEss  srelGeagen
mdsrisd |
3. Disadvantages — Working with total station is easy
SemLoser : GumiL e evGLegafie Coumear Gewieug seoud -
4. Advantages —  Gives more accurate measurements than
other conventional surveying
instruments
BETELD&HET iy euldl e BeTena o LisFamThsear el
18se|b gevellwibrem eTaysmer Gamb&sing
(A) (1) and (3) are correct (B) (1) and (4) are correct
(1) wpmid (3) eflwrereneu (1) vpgiw (4) sNwrearene
(C) (2)and (3) are correct ﬁ) (2) and (4) are correct
(2) wpoid (3) sfwrerene (2) wpgd (4) efwrerencu
(E) Answer not known

e Qg Mweiidvansy
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116. Choose the right matches from the following equipment inventory of

total station.
Gemeupd GCLmiL e evGLageaild guaaljemrma;aﬂsm uqu_UJaS]aSl@E@ sflwmen
Qurmssrismer CaibOs6Hs. A

1.  Total station set —  Data back up device
CLmLe vGager Qe Crim Gusli ganeua
2.  Prism set —  Prism carrier
(fis Gt | Ol Gafui
3.  Back sight set —  Prism holder
Gué @ Qe _ Liflen G@_rr)rr@')v_r'[
4. .. Data processing —  USB serial adaptor
GLiur Lpr@gsvent i USB #flwé @i

(A) (1) and (2) are correct
(1) wpmpw (2) sflurereeum@b

(B) (2) and (3) are correct
(2) whmd (3) sfwurareawLTEL

W}) (3) and (4) are correct
(3) wHmid (4) eNwmeraneuLINELWD

(D) (1) and (3) are correct
(1) whmb (3) sAwureaemeuwimEb

(E) Answer not known
v Gsflweldana
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117. Choose the right matches of total station from the following:
“eraumalamaupdled  Curiired  evGLageflar  sflwrer  Qum@Esshisener

Caib0s{Hs.
1.  Angle measurements — At right angles (clockwise)
Caramr 66T Qeiigss Csrammseild (&gsmyb
e Slensuileh)
2. Unit setting — Angles in degrees/min/sec.
welll Qg | Carawkiser 4.8 a6/ HlBlLb/edpmg.
3. EDM setting — Select IR laser, fine measuring
mode, use RL with caution
EDM Qe g . " IR Gasery Gsfey Qs, memaniu
' ' ' SeTE@GL  euas, adsflEemauyer
RL eow 2 uGund
4. Atmospheric parameters — Set all parameters the same for
a total .station and .data
logger/PC

auaflwar_egde urprldlLfser  erwewnr wmgn B figemaryd Gy
brdflure Gumiid  dvGLamen
whpib sseud arsast/PCé@ siewn

“(A) (1) and (2) are correct ' ﬁ) (2) and (3) are correct
(1) whmib (2) sflwrereneu (2) whmib (3) sflwrerereu

(C) (3) and (4) are correct (D) (1) and (4) are correct
(3) whmb (4) sflwurereneu : (1) wpmib (4) sflureremes

(E) Answer not known
sHlenL Gsiflweildvene
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118. How many kilometers measurement taken using 11 prism in long
range EDM instrument can be used?

pewr grg EDM gmeller udQearmenm uﬁ]@ug,a)g,u uu.nszsru@g.g_‘,l Thgeen
- ACGamdSI_Lir cxerefl el eT(HES@TD ?

v
(©
®)

15 (B) 10
12 (D) 20

Answer not known

cflenL Qgflwueildane

119. In total station measurement K = AC — (AB+BC), K represents
- Gumliee GIUCSL_aqmﬂa) aamres&u:;.eu K =AC - (AB+BC), & K uflavgdle

@P&&lng).
(A) Kilometer constant (B) Kettle constant
Bleveowrar HCer WBLLir Hlevoowimer Ga1iged
(C) Tripod constant \[6) Prism constant
Hleneowmer (p&amedl Hlencowrer Lflgn

(E)

Answer not known
eflenL Ggflwelcrencd
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120.

Match List I with List II correctly and select your answer :

wigwe o ucigwe I o et Qurmgd sflwrer eflentew CaipOs® :

List I
U iguied I

(a) EDM with laser generator

Gavaim QggenGyrLLer EDM

Endless drives

(b)

WPy eeTE 1genTeLey

" (¢) Bluetooth .

HenGs
(d) Tribrach with foot screws
YL eo@(peyLa lganglarmg

@ b @© (@
vb 4+ 3 2 1
® 1 2 3 4
© 4 1 3 2
) 3 4. 1 2

(E) Answer not known
en Gsflwalidane

59

List II

LI Ig Wieb I

Unique levelling guidance
Sarnggeunner Qeaeuadim

el ({55

Upload, transfer and
connectivity of data
GLiLmemey HUGarlH, wflbrHod
wHHID GenamEg&E6EmeTse
Excellent hardware features
gaaslnhs anmi_Geul bsb
Measuring distance

gNISeds SIeTSHD
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121. The advantage of total station
Total station-en penenwineng

(A). .The instruments costly
o LsTeugdlen afena Slan

(B) Does not provide field note
SlimH Crri@p Caametufidrensy

(C) Direct observation of sum not possible
Crrwns sal Hogres samsdll srgdwiieana

\A)) Greater accuracy in area computation
e gidedlwiomer LyiiLeTanel sarsdH QFuisen

(E) Answer not known -
aflenL Qgflweldena

122. Choose the correct answer.

The measurement be able to read eléctronically in manual total

station.
sflwrer ufleve CarBlsHs.

aspann GLmiid ewGagaflles ereile Wenangm eamuled vgss

PlgUd.
(A) Horizontal angle

e Casmewrid

\A}) Slope distance

Fmie| gryw

(E) Answer not known
alenL Qgflweldena
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(B) Vertical angle
Qatigsg GCameanrib

(D) Co-ordinates
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123. The following are the disadvantages of total station :
Qerreupuemas GLm e svGLagalian @ampurbhserT@b :

1)
(i1)
(iii)

(iv)

(A)

VO

(E)

Enormous plotting and area computation at any user
ahsGeinrm o uGurdliiveaf sdand Fsiugurer emrsd wLHOID
LIFCILIGTEY &emtlds e

Integration of database

sreys QAsr@serw Qemamhg Qewdu@uwrmy uoaibhaD ey sl (
They should not be used for observations of the sun unless

special filters are used
MCGsagworen eugsl ysmer o UCUTHGHETLD, Seupeap @ fwealer
sr_flwerei(h) Qeww LwaTLHSES sl g '

It is difficult for the surveyor to look over. and check the work

while surveying

iGeu  Gewwyd  Cungy simeaurart  CealeaeiLl souafsg &
Qardreugh@d whmib sflurissea)b @& siqambrs QmEESD

(1) and (11) only (B) (i) and (i11) only

(1) vpmbd (1) wrHw - (i) whHmd (111) v Ewb
(1i1) and (iv) only (D) (1) and (1v) only

(111) LoHmILD (1v) bl (1) womb (V) LI Hibd

Answer not known
eflenL Gaflweiidena
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124. A prism should be put right on the reference point when sighting is
possible from the

@ @mbE UTT&ES plgu|b Cﬁurrgj @@ x_fs]rﬂm)m G]r;roouqsmau

oumu@erig i Bg eflwns. @més Gauskiiib.

(A) Dumpy level
L b8 Geveudd

(B) Plane table
19Cereir GL1beT

(C) Compass
SMbLIGL
\/6) Total station
G @ Gl awen

(E) Answer not known
eltenL QaRwelldana

125. —————is used to center the bubble in total station.
CLmiLa® evGLagaild @ulflerwt eppwliL@Ss vweTu@Beug
ﬁ&) Foot Screw (B) Tangent Screw
oLl GO (B GLeimsnetTi 6@
(8] Foéussing Screw (D) Damp Screw
seGUISElE 6@ GLibLy 6@

(E) Answer not known
: eflenL Qgflwelcens

126. Total stations only measures parameters.
CLm L é evGLegafllas — sjere] WL HGL arellLiLHSDg.
@ 2 VB 3
C 4 D) 5

(E) Answer not known
eflen Qgflwafieenen
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127. In Total station, softwares are clubbed with AutoCAD
can be used for plotting contours at any specified interval.

CumiLaé evCLagafe, QuenQummlsamer o CLTCs 2 L e
Ceirggl  epsleumm @GOG L @l Qeusfiuiey  snan@iisener  euanyw
LIETUGSS (i Lid. |
(A) Revit and BIM
M@eul whmib Gib
(B) 3D Home and Architect
3 Canmbd wHmibd < THGEL &
ﬁ) Auto civil and Auto plotter
< GLnflefled whHmd < Grmllerm i
(D) 2D and 3D
2 WDODID 3y
(E) Answer not known
slen GgMlweidena

128. A vehicle to overtake with safely another vehicle travelling in the
same direction
@Cr dewsler Goum eursensens ungisTLTE (WhH Carambh CFdaig

\/f\) overtaking sight distance

eeutGL &SR &TL 8 grpn

(B) stopping sight distance
eoLminlii smd gy

(C) * sight distance at intersections
@an_iibasapen s d b

(D) crossing sight distance
GNEED T8 Gy

(F) Answer not known
clenL. Qzfweildena
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129. For providing camber in the field the templates with desired shape
18
Jebigd ypéefleser @mwss GOl L um&&nﬂm g,u_lrrrr Qe LEM&ESET
aupailer G emLLILIBHE, S :

B  Camber boards (B) Parabolic Camber
upFefley LaMESEET ugeuenemwil Ln&afley
(C) Straight Camber (D) Combined Camber

- Gpraymé sfley - @eehs Lnssfley

(E) Answer not known
eflenL. Qgflwsiidvena

130. As per IRC Recommendation the minimum distance for providing
warning sign is
@pdu Curh smadgev (IRClen Lfpgeriug art.d gmyb deg umime
S gyl GméGh
(A) 1.22 feet ahead of the danger zone
1.22 oyq eréeflsens gy

\AS) 1.22 m ahead of the danger zone
_1.22 B aréafgens Gy

(C) 1.22 e¢m ahead of the danger zone
1.22 Qeamngibi it erésfisens gryb

(D) 1.00 m ahead of the danger zone
1.00 B it ergsflsens grmb

(E) Answer not known
cflenL Qgmweidene
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131.

132.

How many shapes of camber commonly adopted for road surface
gmeneufer Cuhurinied Qurgeuns asgamar Cabufler eugeuamwssliLihdng ?

(A) 5 ®B) 6

(C) 4 | | WOE

(E) Answer not known
eilenL Gsflueicana

In Road survey uses of combined camber
snena SemWwEHEGD FTlaulld LweaTu@ih Geanhs Lnssfa,

(A) straight line is centre camber
@ Cpiypésila ghu@

(B) continuously camber
Qerirsdlurer sfleyser ghU@b

\/(C) it consists of two straight slopes with a parabolic curve in

133.

centre
ureuenerw Lipdefiey opmid Griliyp sfey SlepL&@bd

(D) only curve in centre
cuenereygaT L HRGWL enLIDTE @)(HéHED

(E) Answer not known
een Qgflweildane

The other name of Super elevation is
srenes Senseflellen Goum Quwit eretren?

(A) Camber S cant
Lpésiey | Caerri

(C) Crown (D) Gradient
Hyeyer FTUILDITETD

(E) Answer not known
eflan_ @gflweiicena
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134. Match List I with List II correctly and select the answer :
ulgwied I g g I o6 Quamsd sfwnen eflevtews CaibOs@ :

(a)

®)

(©

(d)

W (N
(B)
©)
(D)

(E)

ListI
L igwed I
Kerb 1.
Q&

Camber 2.
G&¢uﬁ
Gradient 3.
& Cmiguien
Super elevation 4.

G&Uui eTellGouager

@ ® © @

4 3 2 1
1 2 3 4
4 1 2 3
3 4 1 2

Answer not known
sllenL. Qgflweldrensy

388-Draughtsman (Civil)

U g uied I1

The inward transverse inclination
provided to cross section of road at the
curved position 7
cuenereumer  smeneWliler  GmiSE  QAeulige
2 dTusswrs QerhsstuHn Ffey
Longitudinal slope of road along its
alignment

SMLEGHD Filey .o S

Convexity provided to the surface of
carriage way

GaCrgy Geuulle garsfled aws@h (@Gow
S{en DI . :
Boundary between pavement and
shoulder

Cueu@war iy, GCerdL(rE@Eb @l Gu
2 dremr Lejeir_ifl
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135.

Frapeoudiedr auigalilued S gdlemig

(A)

(©

(E)

Super elevation
GLui erefl Gauager

Straight line camber

Gawuir CGrir Gam

Answer not known
eflenL Qzilweldae

is an important aspect of road geometric design.

s psflunnerg.

ﬁ) Sight distance

&L 1gavllL e

(D) Average Gradient
gynaifl SCmgwes

136. Choose the right matches from the following :
Qetmau(peraneupiier srlwuner Gurmsshsamer GCaibbshHs :

(1)

)

(3)

Straight line Camber

~ Gpiruymésfley

Combined Camber

@aenhg Lnsafley

Parabolic Camber

ugesenemuLl Lp&afley.

(1) only

(1) wC @

(3) only
(3) LD

Answer not known
cflane Qgflwelidenc

consists of two straight slopes
with a parabolic curve in the
centre
WSS LITEUGDET — GUEDETE|L G
@raw( Cpr efleurs @(HeE@ELD
consists of two straight slopes
joining at the centre
@ retr(H Cpirefieyser
ey GEsED
consists of continuous curve of
either parabolic or elliptical
shape
LTeUaeTLD g Beteul L algeuid .
QaTiFSlurer euamaTeUns: &) (HéEW

(B) (2) only

- (2) o

(D) (1) and (2) only
(1) opmid (2) w Go

WG He
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137. Why the water drain off easily in super elevation?
greva fenLFafleller, samanti crafllgns eugeus erem?

(A) providing drains of the outer edge of the road
sravewden Geuafltiym ofleriddled euigBir Emebeumis jepioihsH e

(B) providing camber to the road surface
srenauiler Guopugulld ypsefey Siawbsme

\/(C) no necessity of providing drains of the outer edge of the road
srepeouliler  Gevefliyp  eflembbld  eug B sTé@eur  erow
GCoemeuulicvena

(D) no necessity of providing camber, but proper gradient is
provided to the road surface

grepeulier - Cupuride ympssfley iemww Ggmmuﬁ]mmw 2, @MTED
- guorgrer Grisfle] emwbsmed

(E) Answer not known
allenL Ggflwelcvanay

138. If the limiting gradient is continued for a long distance
augiby Gpir sifley pawr g Cem_ibg mbsne
1. It will be very convenient for the pedestrians and animals
- Qg ungarflaer wHmD WHshEEEsE ausHurs @maELh
2. The load carrying capacity of vehicles will be increased
UMETLIGET aTenl eT(H&5IF Claeb eme| Mflswrd HHLD

3.  The wear and tear of vehicles using the rodd will increase

srTepulledr eursamisefler uwearumLréd Csuinrand fawrd eN@Ib.

(A) (1) only B) (2) only
' (1) br@b ' (2) LG
VO ) only (D) (1) and (2) only
| (3) v @Ew | | (1) wHmnd (2) oL B

(E) Answer not known
sflen Ggflweldrensy
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139. The carjriage way and roadway can be genérally called
Guré@eursg auflsd wHpL Pl sLb Geamwuirer Gsmd

(A) Shoulder
' CeammaL it

(C) Camber
Lmé&eiiey

(E) Answer not known
cllenL GQaflwuelidvensy

ﬁ) Road margin

Grr(y wriredlesr
(D) Border

e &iay

140. The minimum width provided for the cycle track in urban areas is
B&ICLDEISaI® ensdbfldr Lrengulle m@m&uu@m GMDBSULE SFLD GTEITET ?

&) 1.30m ) 2m
1.30 &
(C) 25m (D) 1.85m
- 2548 "~ 1.85.8
(E) Answer not known
cllen QgMwelildena
141. — - is the first sight taken on a levelling staff held over a point

or known elevation.

S(Hedlenw G]urr@gsgl Qaeud Qeilg e Gepsaliul L Gosugiew 6
L{GTGTﬂU_(ﬂGO eoLm @D@Jg@ Gf@&'.a;uu@m WS 2| eTa]

Back S1ght (B.S)

v
et LMTensu

(C) Intermediate Sight (I.S)

@erL uNTeney

(E) Answer not known
eflen Qg flweildrena

69

(B) Fore Slght (F. S)

(T UTTeney

(D) Changing Point
wrHm Lererfl
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142. The formula is used in arithmetic check in height of collimation
method
anudl. 01 srellGueser wepuda, aamsamis eflumitbed LuaLRSSIUGD
GSSlmd | . S 5
(A) X BS+ X FS=Last RL-First RL
ZBS+ZFS=so.8RL~-wyseoRL
VB IBS-SFS=-LastRL- FirstRL
' 2 BS-Z FS=sam 8 RL-—wsoRL

(C) X B.S+Z F.8=First RL-LastRL
2 BS+3F.S=wse RL-saLél RL
(D) X B.S- X F.S=First R.L-Last R.L
- EBS—YXFS=wseo RL- a;mi;é] RL

(E) Answer not known
eflenL Ggfweidend

143. Find the height of collimation. R.L. = 100 and B.S taken from a
point is 2.750 m.
apuiC g1 sraliCuwayen sar@b@y R.L. = 100 wppw B.S @ ydeflula

@mhg 2.750 8
(A) 97.250 m (B) 100.750 m
97.250 100.750 15
VO 102750m (D) 99.250m
102.750 15 99.250 18

(E) Answer not known
eflenL Gg,rﬂu.lsﬁlcbmeu
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144. The consecutive readings taken during a levelling operation are as
follows. 0.685, 1.315, —1.825, —0.635, 1.205, 1.235. The instrument
was shifted after third reading the Bench mark of third reading 1s
'100.000 m. Then the R.L of first reading is .

@@ Levelling Operation—& &pseamcunn Ggroisflurar  yereyser
ahssuuderper. 0.685, 1.315, —1.825, —0.635, 1.205, 1.235. @da
Instrument - syeng epepreug erellen Curg wIHPLILEEDPS. ApeTHTEZ,
ereiler Bench mark - eyengg 100.000 m erafiier apsed tareflen Reduce

level s ang
VB 97.490 (B) 101.140
(© 102.510 | (D) 98.860

(E) Answer not known
eflen Qaflwueiidvana
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145. Match the following :

(a) The connect the finishing 1.  Simple levelling
point with starting point
on that particular day _
@@ GHUELL prefler Csm_gsals Aw et Qeveualie
yereflujLer @midlr Lyerafianws
@ enenT&Es
(b) The level is set up at several 2.  Fly levelling
suitable position
Gavaud, Liew Aur@sgwren Hlenaudld Ssl9ener Gleveuslins
DMD&SUILIL(heTarg) :
(c) To connect the Bench mark to 3. Differential levelling
" _any intermediate point of the - '
alignment for checking the
accuracy of work
Geauenevulflen gidvellwugsens gureTaduch Qeeusdim
gilumriughens Srepwlnder ahs
@enflenew Yareflujeir Clughe
WOMT&—em @)enen e
(d) By setting the levelling 4,  Check levelling
instrument midway between
the points
HeTalla@ns@ @eufle Qs Goveuadm
Qaeualii smallan apLiLigen
eLpQULD

@ B © @
(A 2 1 4
vB 4 3 2
Gy 3 4 1
D) 1 2 3
(E) Answer not known
cflent_ Qgflweilcvaney

= =W
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146. The sequence of operations to take level with a levelling instrument.

147.

@ Geedi Gedrevl mOwar Qsran® OQoeud ahdeghd Gumg Qeww
Geuamqwencuseaner gfluns euflensliubHiss

1. TFixing, Levelling, Focussing , Reading S
Qurmsgige, LLLUURSS®D, GeulIufhisse, am@m@ggm
2. Levelling, Fixing, Reading, Focussing
LIL_UUGHSSD, QuIESSsD, eTdeuBssd, Geluliubhsseo
3. Fixing, Focussing, Levelling, Reading
QumBSSISD, GeHwLILGSSH, LLLULHESD, eTheu(H S50
4. Levelling, Reading, Fixing, Focussing
WL LURESH, HetbauRdsdn, Qurmssisd, @GelwulinbHsgse

(A) 3 , (B) 4

(© 2 v i

(E) Answer not known
aflenL Qafluefdana

Finding out the relative heights and elevations of points
yeraflasafian Qgrryentw 2 wrhigser whpb aelGougansamar semLHlsd

(A) Chaining
Qeuld el

VB Levelling

Qeveuedlny
(C) Tilting
g

(D) Focussing
o°o(3|_| n‘aSGﬂﬂ Y

| (E) Answer not known

ellenL Qgflweitdene
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148. The line of Collimation should be
sredGuwagen Car@ eréueummy @més Gouam(dbd

@

VO

(E)

Inclined (B) Vertical o
srey Carlh ' Qeriigsg Can
Horizontal (D} Perpendicular 90°
Har oL L Casm( 90°s5 swwrer G

Answer not known
ellenL Qgfiweiicdena

149. In level survey change point means
Caveualim #TGeuulley @ Db LyeTerf] ereimLIgy)

®

(ii)

(iii)

(iv)

A)

(E)

The point both I.S. and B.S. same operation

@enL LumTeneu HMID (Pt L6l eTDNg UMTlLg)

The point both F.S. and C.S. same operation

(LpetT UMTenal WHDID GHEHG LTI QeTnig: LITTLILIG) l
The point both the F.S. and B.S. are taken during the
operation

(pel Lmiiened WHDID BihSg eTer Qe UMTeneueW ETDITE UMTULIG
The point both last RL and first RL

sl @GepssiulL Qaeud wHmb pseld GopssriurL e
QETDTE LIMTU LIS

(iv) B) O

(iii) D) (i)

Answer not known

eflenL Gsflwueiicena
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150, column is used, the first entry in the level book pages.

Qeveusd Usss usssdld @wso udehe QpHeuflens
uweTUBE D
(A) Fore sight \/é) Back sight
(P UmTeneu e LimiTeney
(C) Intermediate sight (D) Height of instrument
@enL_Liumiraney smelufler 2 wiid

(E) Answer not known
dfan Qasflwefdanc

151. A line lying in a level surface and normal to the plumb line at all -
points 1s ' .
Soasg yetaisafigd Geed Gupugiy whmpd  Gerbl  CarlighHE
@udurer gm Camh

(A) Horizontal line
Han_or L Can(p

(B) Vertical line
Qeiigsg Car@

\,é) Level line

Qeveud Car®

(D) Tangent line
Qarih Gam(

(E) Answer not known
cilenL Qgflweldena
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152, types of levelling is adopted for the purpose checking a

series of level previously fixed.
cuanasaT (et BiramruilEsuuc L Hlanasatler eufiansapw FflumTE@D
- Crnaasdpans gpnsé derererubGidmg. .- - s, .

(A) Cross section levelling ﬁ) Check levelling

dlyrev Cesagen Qeveuadin @s& Geaveuciin
(C) Direct levelling (D) Profile levelling
Criry Qeveuaiin ' U Grrenud® Geveuadim

(E) Answer not known
slilenL Qzilwuefiden

153 ' method is fast, simple and has simple calculation.
weopuiler HCeusrang, souwrerg wHmb eraflu  apenpulled
sansSH Qaiiw (g,

\/{L\) Collimation method _ (B) Rise and falls method
STl Cager (penD enfein HmID LITEED Lpenn
(C) Arithmetic check . (D) Reduction level
2fs6wys (we G&opLiy Hene

(E) Answer not known
elenL Ggflueildena
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154. In a simple levelling the back sight taken from A point A of R.L.
100.000 is 2.850 m and fore sight taken from point C is 0.520 m.
Find R.L. at point C

- engnyen L Sareflé (simple levelling) A-yerefldler er@ésiiuir. Ga
uriepeu@ar (B.S) wierey 2.850 . wigan @eopssiiu’ L Qe 100.000
wonpw C yaellWe a@ésiuce gperarmed umiemen (FS) 0.520 & eafle,
C yerefluden @eopssiu L Qaeuelesn w2

(A) 103.370 m - \,63) 102.330 m
103.370 18 102.330 8

(C) 103.330 m (D) 102.370m
103.330 15 . . 102.370 1.

(E) Answer not known
allen Ggflweildana

155. The first staff reading after the level has been moved to a new
position is
ydw Qrsdpe wrpmiulL Qer erhisstumin wae erellen Guuwir

(A) Foresight (B) Intermediate sight
Gunmit ensl_ @enLirSipCui ensl
'\/(C) Back sight (D) Change sight
Gus engl_ wrmib yerafl

(E) Answer not known
' eflenL Wsfusilvera
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156. The smallest graduated division in levelling staff
Qaveuadli evimuli-eb @Msariur L Adlw hfley

(4 0.0005m L B 0oosm
0.0005 8 : 0.005 .8
(C) 0.05m (D) 0.5m
0.05 18 0.5 8

(E) Answer not known
eflenL. Cgflweiidena

157, — instrument used for high precision levelling work.
L . o usTergeng LwemuRgH W glwedlwwrear Geoeualin QFuwenb. -
(A) Tilting (B) Dumpy
Tilting (1qébq i) Dumpy (Lb9)
(C) Wye - V) Auto
Wye (@) Auto (<o Gm

(E) Answer not known
cflen Qgfluelevane

158. The horizontal angle which a line makes with this meridian is called
anhg  oardl st @G Hoslde @wmbg aBhs @@ #iGa  CamlghEb

eTh&sLILRD feniwol L Camamrid

(A)" True meridian | (B) True bearing
LBen Qulliguwer C(Hem Gl

(C) Magnetic meridian \Kﬁ) Magnetic bearing
Cuosargd Cwfligwer - Guseangs GCufle

(E) Answer not known
ellenL QgMweildane
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159. The angles of dip at the poles and the equator respectively are
glullelr gimeusdeuid, ywsdu Crevsulgybd, smbs cafllier sfey ereeaiours

@) (B&E@WD ?
(A)- 30, 60°
(C) 457, 90°

(E) Answer not known

ellenL Ggflweidena

(B) 0°, 90°

SO 90, 0°

160. The angle of a line measured with reference to the true meridian is

called

o_amenibwine Gwilgwer 2 Lo e GCamiigenm emellt Ll L CameanTid

(A) Magnetic bearing
srhsLe Gumin

(C) Attraction
B L_TFT & Q15 6T

(E) Answer not known
alenL Qgflweidena

(B) True bearing

o gsrenwwimest Gufm

V) Azimuth
AL

161. The horizontal angle which the magnetic meridian makes with true

meridian is known as

Cusang s Gofgwear oearg Loy Cbfiguel el 2 (heurs@h SlepLil Lé
Camranid ereueummy SidlwiLGEpag 2

(A) Bearing
Guflm

(C) Dip
Qi

(E) Answer not known
clenL. Qg Rueidena

(B) Variation
CouflCuiager

‘ﬁ)) Declination

Cl&eflCanages
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162. The latitude is negative when measured southward and is termed as
< sCrews QghHE Corédl eeaeduu@n Cumg adioeapuns 2 derg
eren QuwflLiu@dlmg.

NGy

O

(E)

163. In compass traverse survey to closing error

Northing = h (B) Easting
QUL&@E LDLOTS Slpd@ Lnons
Southing (D) Westing
QgHE Lmons GuhE Ymwbrs

Answer not knoWn
cllenL Ggflwalidbene

£k

rectified.

smbuev rreu FrGeuder puyeym  Clenipser

vwaLu@RsH efl QEwemb.

v
©

(E)

164. Convert whole circle bearing of 210°30” into reduced bearing.

.Bowditch’s rule . (B). Traverse rule
Guemigt & &g g rreuten el
Bessel rule (D) Mechanical rule
Ligden aild) @updreilwuice el

Answer not known
cflen GsMweidwenc

210°30" Capnéd srsder Guimens Crpev® WGMufihsrs wibHpeyb?

(A)

©)

(E)

S 30°30" E ﬁ) S 30°30' W
G5 30°30° 8 @5 30°30" Guo
N 30°30" E (D) N 30°30° W
o 30°30° & o 30°30" Guw

Answer not known
alen @sMueidane
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165. The sum of interior angle of pentagon is
e srCasramsden 2 arCaramusafler s (hg Cgranswunearg

(A)  450° B s40°
(C) 360° (D) 180°

(E) Answer not known
clenL. GgMwellebenen

166. The horizontal angle for a given two meridians in clockwise and antl
- clockwise directions quadrants of a circle is known as
@ alLgdar asqamrb Sosdign woomb adlif  SgaETbd @m&u_(ﬂg;]m
Qan@ésiiule @r}am@ Qufligurats@erssrer dHevLorL Gamewmd ————
eTan SenpEEILIHEDE.

ﬂ) Reduced bearing (B) Whole circle bearing
GapdasiucL Guilia weul L Guiii
(C) Fore bearing ) (D) Back bearing
e Guifim e Guifim

(E) Answer not known
eflen QgMwelidvena

167. Find the back bearing of AB if fore bearing of AB = 63°30°
AB = 63°30" ~Gumr Quiriurs @mbsted AB—en Cus Gwfm-ew

seirL_luioy. - A
(A)  115°30° (B) 116°30’
(C) 242°30° V) 243°30

(E) Answer not known
e Agflweidama
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168. Match the following type :
“ereumd cuangapwit GuMHEHIS

(a) 60°20° . 1 SB54FW

(b) 160°30’ 2. N5QP°W
(© 215°45 3. S19°30'E
(d) 310°00’ 4. N 60°20'E

@ ® @ @

A 1 4 2 3

(B) 2 1 3 4

JO 4. 8 1 2

(D) 3 - 2 4 1
(E) Answer not known
cflenL Qgilweidenc

169. The magnetic bearing of a line is 48°24’ calculate the true bearing, If
the magnetic declination is 5°38" E.

Caml e Cuoéengs Gwfr 48° (4dM) 24" (Nafi) wHmbd s1hs Lo 6Sipsd
5° (9 8f) 38 (Oef) fé@ iy wigen e ammwwren WMufln srers.

(&) 58°28 (B) 64°45"
SO swo (D) 63°48

(E) Answer not known
' sflen Qg fwefdens
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170. Name of the error that the fittings of table and tripod being loose

WGeresr GLdlar wpmid whiurc e (tripod) serigdure QurmsHulmbsrad
ghupb Weppuler Guwim

\/CA;) Errors of instrument
s@hedlullarmdy ghuBL 1empaer

(B) Errors of plotting
Yarm_ g mudlemed ghuGb Gepser
(C) Errors of sighting
urrduglermed ghuiin Genpsdr
(D) Errors of manipulation
SSWME@EEUSTD Ui Genpser

| (E) Answer not known
sl QAsfluciidena

171. The reduced bearing of a line is N 87°W. Its whole circle bearing is
@@ Gamiger eu 87° G e @epssuuc wduy ey el Cuflm ous

wrhlerrad wdiL SlenL&@Eb.
A 3 (B) 87°

(©) 93° - Dy e

(E) Answer not known
eflen_ Qzflweldene
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172. The compass with the graduations are marked as south with 0° and

north with 180°

SIOTEYSEFLGT  Fnigl  HTOLIED @g,m@ 0° Graﬂsqua GuL_as@ 180° GI'GOTG]_ILD

GDSsLIUL(HeTerg).”
(A) Trough compass

Ig Mot &MLDLIGY
JO

(E) Answer not known
aflenL Gzflweidana

Prismatic compass
Lifleviomgd smbLe

(B) Surveyors compass

FrGeUWITey SMbdLIEL

(D) Magnetic compass

Cué&enigd &mbLey

173. In which of the following compass graduated card is attached to the

box and not to the ring

Qemeupd  eThg  ambuen  HyreeGai L &TIHLET WHHID  euETLISSIL 6

@ enemrabaliLC_(HeTeng).
(A) Prismatic compass

1Gflevinmy & SmibLeh

(C) Theodolite survey
HCwnGLmenat. &rGey

(E) Answer not known
eflenL Agflwueidena

ﬁ) Surveyor’s compass

FrGeuwT &mbuen

(D) Traverse compass
Lreufe &Tbueh

174. ‘ 1s required to measure the direction of the magnetic

meridian.

(A) Chain
Qeuller () sruded

(C) Plumb BOB
gisE G0

(E) Answer not known
aflen GzMwueitdene
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Qseny s Quilyueiar Hdangan oereil Cgapeuwiman shefl.

) Compass
S&Mhuev

(D) Spirit level
aulQifl Qeeucy



175. Needle in the compass is made of

Smbuen undebdled o ¢mem wardl <2, TG
(A) Iron (B) Brass
By Appaoar
(C) Copper ﬁ) Magnetic
STLLHT SMhELD

(E) . Answer not known
eflen Qg fwaldena

176. The fore bearing of a survey line with back bearing 210° is

R Siarailu Camlig.em LQQT‘Q%]QD&&S Gsrenrid - 210° arafled SIS @p@mﬁm&&;-
CaHTemTD eTemug)

@ 20° SO 3o

(C) 40° _ (D) 50°
(E) Answer not known
cflenL Agflweicrency

177. The system of measuring bearihgs from 0° to 360° from the direction

of north is called : system.
Guiln semelP eeple ealésE Hasbdlmphs 0° wsod 360° ey
BméGn Cuilt ——— aTen SP&EILGEDS.
ﬂ) Whole circle bearing - (B) Quadrantal bearing
app eu L Guifir sred eulL Guflm
(C) Reduced bearing (D) Both (A) and (B)
- @apssiiul L Guili - (A) wpmd (B) @renBiw

(E) Answer not known
cilenL Gghlwueldena
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178. Metric chains are generally available in
QuLfs srudledl Qungieurs fenL&aamiqw ieTey

(A) 15m - - (B 120m
15 S ' 120 S
\A}) 20 m (D) 25 m
20 B 25 S

(E) Answer not known
cflenL Qzflweldane

179. Name the device which 1s used for marklng the ends of chaln whlle

measuring along sloping ground - R
smcuren flogdldr serallpn Gurg Qoulealer gpenarsamer Qprns msug@
Qamerer LwETLHSSHID H(Het

(A) Ranging rod (B) Tape

: Cp@péim g - GLu
\/(C) Plumb bob (D) Cross-staff
Sé@, e Slymey cvyLms

(E) Answer not known
ellenL Ggflweiidara

180. A line normal to the plumb line at all points is called
dwarggl  ydaafigellgd  Gabn ee@se @Quoursr  Garl

e p&sULIpieisg)

(A) Vertical line ﬁ) Level line
Gleuiig &cd encver Qeveudd @nevesr

l(C) Horizontal line (D) Vertical plane
SleoLinl L& Garp Qeumgse GG emuSlen

(E) Answer not known
eflen Qaflwueidene
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181.

182,

183.

One furlong is equal to — chain.
@(h uirms ——— sRfladlsE swib.

@ 1 \,é) 10

(C) 66 (D) 80

(E) Answer not known
cllenL GQgflueildvena

How many links in 30 m metric chain?
30 15 Qui Mg smdladllier ersseman edev 2 drare?

@) 100 . B 150

(C) 180 - (D) 200

(E) Answer not known
eflan Qgflwefldvena

Name of error that occur due to faulty adjustment of devices such as
chain may be too long or too short

Qeufen s Ferorsayb weg Vas @pdusrsan Baspeilar Gung seuprer
smedl sMQanigd arreawmors gHUBL Meppulier LT ereme ?

(A) Natural error \KB) Instrumental error
Quperswirer Genp s(meilullgy arar 1Yanip
(C) Personal error (D) Artificial error
gafl pugmed grHu@D Wenp ' Gewupenswrean Gemp

(E) Answer not known
ellenL Qsflwsildvanaw
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184. As. per IS specification every metre length of chain should be

accurate to

Ay &7 sLEUUILEH QuAACsager Ly (IS) Galaler galearm B
 Rerapd ereucuenay glevedlnns @)Es GouamhHin? -

(A) +2mm

\/C) + 2 mm

(E) Answer not known
eflen QgMweidana

185. Match the following -
Gereu(meuanehenn s Qumipdg s

(a) Metric chain 1.
QMg Qeulen

(b) Gunder’s chain 2.

FerLirev Glaudlesr

(c) Revenue chain 3.
Qreueryy, Gauferr

(d) Engineer’s chain 4.

@engaflwirey Clauder

@ G © @
(A) 2 1 4
B) 3 2 4
< 1 4 2 -
JO 4 3 2
(E) Answer not known
ellen Ggflwaldrensw

388-Draughtsman (Civil)

— 0 = W

(B) 5 mm
(D) — 2 mm

100 feet long, each link is 1 foot long
100 =y Hemb, geu@eum@p @enawriiLb (S}
1 =g fHord

33 feet long, each link is 2 116 feet loilg

33 =g Berd geuG@euny aSlhighd 2 %6 Dy
Berid

66 feet long, each link is 0.66 feet long
66 <ig ferd aiCeurm Omgn 0.66 =g

Berid

20 m and 30 m long, each link is 20 ¢cm
long |

20 S vhgw 30 S Ferd @m@mrr@ QS]rm@u)
20 Q&8 Berd

88



186. The process of measuring distances with chain is called

shgldls  Oesrar®  grryasemer  HaE@l  peyp 0 o ————  GTa
S Pp&EsEULBHEDE.
A) Chain survey (B) Compass survey
Friflell floosiersEens Hengsamiiy. sarstlaEBIL
(C) Traverse (D) Plane-table survey
ELEGID (PenD F5eT HleerdHamns

(E) Answer not known
eflenL Qaflweiidena

187. Size of arrow used in chain survey
Qeullar siGauuiedd LwaTLRSsLLIGL 2Crm (Arrow) eflar siatey

(A) 3 mm dia 40 cm long ﬁ) 4 mm dia 40 cm long

3 IS &l b 40 Q& Farid 4 O e Lib 40 QoS Berd
(C) 5 mm dia 40 cm long " (D) 6 mm dia 40 cm long

5 1018 el b 40 Qa8 Serid 6 BB o Lib 40 Qs Hard

(E) Answer not known
en Qaflwelidena

188. How many Brass Tallies are in one metric chain?
em Gl s Qsulalle 2 drer 195zmer CLallen ramanisms

(A) - 30 - | - (B) 6

VO 5 (D) 2

(E) Answer not known
' fan Qgflweiidena
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189. Direct ranging is possible only when the end stations are
Qo Peeubss —— Gpryurs QEbsTad LLHL RUBEGHUHSSD
@uwigyiib.

(A) Close to each other . -
petpsdaran CBmssons

(B) Long Distance
e gy

\,(C) Mutually intervisible

ureLIrh 2 éreflen. LmTenay

(D) Located at highest points
&L UL o fasu’es o gyt

‘- _‘--.(E) Answer;not‘ known -
eflent. Qaflweldenen
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190. The below hand signal are used to which direction survey assistant
move the position
giGau o gaflunert opgs Sosller ereueunp Bay St s SlEmE

LweTUHSsILHEDSE.
(Ay Move continuously to the right or left
L alog sdeg QLgns AsrLisfluns pare|n

(B) Move hands are down

aasamer SCp Bnsse|b
. (C) Slowly right
Gueg L&D Awgeuns Cgd
VD) Move slowly to the right (or) left

Qugeurs gl bwg BIL g USSD BETSS6 D
Answer not known

(E)

el Qg fluiefevency

191. A conventional signs and colours building (PUCCA) choose suitable
colour , , | . , :
QRF GUSHLONET OLWMETRISET LHNID euaTaEThsald &gl (UssT)

aeughE e Mu aaransas CsrbEsH

o

©)

E)

Crimson Lake : (B) Burnt Umber
Hflibeent Cod ' LITeL 2 LhUI
Building Crimson (D) Black

Gebig s Slflibgesn &L

Answer not known
eflen Qsflwelildens
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192. In a survey chain, a link may have length of cm.
e siGa sudalle o ey (link) Serb erdueueray (@s..5).

, ..M_\KA) 20 or 30 cm o (B) tor2cm
20 sevag 30 Gg.15 1 s 2 Qs. LS
(C) 5H5orl0cm (D) 2or 3cm
5 sdag 10 Q.5 2 svag 3 Qg.18

(E) Answer not known
clen Ggflwaldrenay

193. The fundamental principle of surveying is to work from
Gy Ceuanidel SigliveLwrar QEreatans R

(A) Part to whole
LG AW mBS WPP®LWTE
(B) Haigher level to lower level
2 Wihs WLLFHSNWmES SMpHs LI L LD
\KC) Whole to part
wpewuidmhg LGHLrs
(D) Higher level
2 wiihg WL SSdmhal
(E) Answer not known
eflen_ Ggflwalildreney
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194. The 1s the direction in which the magnetic needle points
which is not affected by local attraction left to its own device.
sealsanswing oML iul L. Gandsd Lgréeammed UrdésiuL s

&nps easl Larafl gem srgansens el Gadaibd Hansg.

(A) True Meridian ¢63) Magnetic Meridian
L Qg wieh Qw&emngd Qg uier

(C) Axbitrary Bearing (D) Spirit Level
ML f Guiflgwer cul9lflL. Geveudd

(E) Answer not known
- ellen Gasflweidency

195. Plane surveying is

Qenererm sTGauudin ereug

(A) Curvature of earth is taken into account
yolullelr cuanereney samsdld er(HSgIS AsmeTeug)

ﬁ) Curvature of earth is not taken into account

WiBluGerr cuamereney sasSldd erhgEs Qareteudama

(C) Comparatively large
Siflawren LLILETEY

(D) More accuracy
Wgeb gevelwibreng)

(E) Answer not known
efenL Qaflweildena
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196. Planimeter is used for measuring

Qerrafl B Lit sgpefuineng) ——————sieneney JardsriuwenuHidng.
(4) Volume | VB Area

CamerereTey ' LIFLILIGTEY
(C) Contour gradient (D) Slope angle

aren(pr &Gy h sfle Gamewrid

(E) Answer not known .
cflenL GgMlwellcena

197. The person holding the rear handle of the chain
| Gelafler Ger el g Sgis Care® deduer ™

A) Follower (B) “Leéder
urGevreur eOLir
(C) Tracker (D) Controller
G JTEST ‘ genl_Grmeoi

(E) Answer not known
dlenL Ggflweidana

198. Earth surface is assumed as plane and the corrective of the earth is

original is known as
yludler Copurlienu swgerors &mé serelltinipib Hla serena

(A) Geodetic survey | \/63) Plane survey
ICwimg 1.6 FTGeu Garerr &TGeu

(C) Land survey (D) Topographical survey
Hleo _couqmaﬂu_lsi) GLruGurflyrullssd siGel

(E) Answer not known
sllen Qgflweldena
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199. How many links are in a 20 m metric chain?

20 B Quifs Qeulalle asgmar dtisen Gmseh

(A) 20 links B) 100 links
20 Si&ev 100 S rugei
(C) 150 links (D) 30 links
150 Smisen 30 Nugev
(E) Answer not known

eflenL. Qzflweideame

200. 1s used to make the ends of each chain during the

process of chaining. ‘ - - B
g Fadled 2 (meurs@  CQewdllaCurg  geubeunm

shgledluflen wpigeysaer 2 (heumsas LWL (hsSlLHEng.

(A) Ranging rod JB) Arrows
" Gremgdin g " =,Grme
(C) Field book (D) Tally
&6l 5 5&Lh GLadl (Tally)
(E) Answer not known

aflen Qaflweildena -
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